
MC0-0T1 No. of Printed Pages : 7 

MASTER OF COMMERCE 
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00 June, 2011 
O 

MC0-03 : RESEARCH METHODOLOGY AND 
STATISTICAL ANALYSIS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer any five questions. All questions carry equal 

marks. 

1. What is Social Sciences Research ? Discuss the 5+15 
significance of research in different areas of 

business. 

2. (a) Explain the usefulness of Paired 15+5 
Comparison Scale and Likert Scale in 

business research with suitable examples. 

(b) Why editing of data is necessary while 

processing the data ? Explain. 

3. (a) The decision making body of fertilizer firm 15+5 
producing fertilizers desires to predict 

future sales trend for the year 2010 and 2011 

based an the analysis of its past sales pattern. 

The sales of past 7 year are given below. 

Predict the probable sales in 2010 and 2011 : 

Year : 
Sales 

(' 000 tons): 

2003 

70 

2004 

75 

2005 

90 

2006 

98 

2007 

85 

2008 

91 

2009 

100 

MCO-03 
	

1 	 P.T.O. 



(b) What is the-utility of the analysis of Time 

Series in research ? 

4. 	(a) Discuss the usefulness of diagrammatic 

presentation of statistical data in business 

research. 	 10, 10  

(b) The following data shows the maximum and 

minimum price quotations of the share of a 

company for five consecutive weeks. 

Present the data by an appropriate graph. 

Week : 1 2 3 4 5 

High Price (Rs. : 102 103 107 106 105 
Low Pike (Rs.) : 100 101 103 105 104 

5. Explain the concept of Regression and discuss its 

utility in business research. How does it differ 

from correlation ? 	 5, 10, 5 

6. (a) In a sample of 800 parts manufactured by a 

company, number of defective parts was 

found to be 60. However, the company 

claims that only 7% of their product is 

defective. Apply an appropriate test to 

verify wheather the company's claim is 

believable. 

(b) What are the various steps to be followed 

for testing the hypothesis ? 	 10, 10 
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7. (a) In a training programme (self- administered) 

to develop marketing skills of marketing 

staff of a company, the participants indicate 

that the mean time on the programme is 500 

hrs. and that this normally distributed 

random variable has standard deviation of 

100 hrs. Find out the probability that a 

participant selected at random that he/she 

will take between 430 and 580 hrs. to 

complete the programme. 

(b) What is meant by a Random Variable ? 
	

15, 5 

8. Write short notes on any four of the following : 

(a) Time Series 
	 5, 5, 5, 5 

(b) Interpretation of data 

(c) Index numbers 

(d) Chi-square test 

(e) Subjective probability 

(f) skewness 
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2003 2004 2005 2006 2007 2008 2009 : 
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